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Since certain discrepancies/errors were reported/observed, therefore, necessary corrective
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Section type : Online, Number of Questions to be attempted:60, Mandatory or Optional: Mandatory, Section Marks: 60.0
Subsection : 1, Question Shuffling Allowed : Yes

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities is a vector?

Options :

1. i

s Speed

2. _—— }
% Gravitational Potential
3.

T

7 orque

4, .

e Energy

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FreAoEd & ¥ o 9@ 7@ e §7

Options :

1.

o

2&; e fasa
3 et

v T

4. .

*

Question id : 6038 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 3 ms™ for 10s. It then runs at

constant speed for 20s and decelerates at 3ms™ until it stops at the next station. The distance between
the two stations 1s:

Options :
{'/ 840m
2&'; 740m
3&‘; 640m
4. 340m
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Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
wE SfETE Yo Ay sEer § vE w1 § "o ¢ 10 dFs 9% dms? Hfrew &

T Ferdl §1 suF a5 9% I 20 AF° g% uRadaeer aa & asd § s s
IS TEAA U TS aF Sms2 & a7 @ Al & HA ST 1 AT et & drg d

o et &
Options :

', s4om
2 740m
3 640m
T 340m

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The escape velocity for a body of mass 1kg from earth’s surface 15 11.2kms! the escape velocity for
a bodv of mass 100kg would be:

Options :

% 11.2%10% kme'!
2.

% 112kms?

3.

v 112kms?

4,

w 1 124ms?

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gedl #7 @aE ¥ kg geudEe F fUs &0 gemae @ 11.2kms™ &, @ 100kg Zeade &

95 &1 Tenae 397 Tohdar gl
Options

L; 11.2 x 102 kms™!

23;; 112 kms™!

3. 4

w 11.2 kms

‘; 1.12 kms™

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bemoulli's theorem 1s a consequence of conservation of:

Options :
1.
Enersy
< 3
2. M
&  Momentum
33;'? Angular momentum
iﬁ Mass

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tt & uET sad F fhady GeaTor @ aRone B

Options :
o =
% @i w@
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4. GedHATT
#®

Question id : 6041 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The zeroth law of thermodynamics introduces the concept of:

Options :

; Heat

2. Temperature

4

33;'? Entropy

‘; Internal energy of the system

Question id : 6041 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

FSATEIR & qeddl FH SAH ThE SaUROT & oe] #ar 6
Options :

L

]

2 G

v

3. gerh

®

‘; qoTell & HARE Fer

Question id : 6042  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature at which the molar specific volumes for ligmd and vapor

phases become equal is termed as:

Options :

;'g Boiling point

2. Critical temperature

v

Zsé Triple point

2;.3 Temperature of vaporization

Question id : 6042  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
% A T FEOI & o/ WX ga & fow #wiw Gfdse smae 3R T grawer

EECERA e B
Options :

1. -

% FdAATh

2. .

» i ATHHATT

3. s

w e fag

4. 5

o GTSHIERIOT W ATIHT

Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature of the reservoir of a Cammot engine. operating with an efficiency of 70% 15 1000k,
The temperature of 1ts sink 1s:

Options :

b 0k
2 400K
3 500K
T 700K
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Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
70% &TACT & T IREeid UF Fdlc S & FSARE 1 aO9AR 1000K B 556

&& FT a9HAT 17 &

Options :

L, 300K
2 400K
3. 500K
T 700K

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A tuning fork, vibrating with a frequency of 90 Hz. 1s moving towards an observer with a with a
speed of 0.1 times the speed of sound. The frequency of the note heard by the observer would be:

Options :

L S0Hz
% 90Hz
3, 100Hz
T 10w

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
90 Hz &I 3gfcd W H9EAS U6 TaRd, wafa & aifd &1 0.1 @ afd &, Jafe &

3R g¢ @ §1 V&I 2@ § e are Faw A7 snafed @ aein

Options :

L 80 Hz
2 90 Hz
3, 100 Hz
T 120 Hz

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a desert. a beetle’s motion sends fast longitudinal pulses, vp =150 mel. and slower transverse

pulses. vg = 30 ms!, along the sand’s surface. The sand scorpion has eight legs: spread roughly in a

circle of 5 cin diameter, intercepts the faster longidudinal pulses 4.0 min earlier than the slower
transverse pulse. The prav is located at a distance of:

Options :

; 3 cm
?/ 30 em
ié 3Im

A;é 30m

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
uF I A vs o & Al AR §ag WA seeed ¥9e v =150 ms”

3y 9 ey w9 vs = 50 msT! A9t §13T & favw & e X § S oenwr S5cm =g & $e §
St dra 3erded Tug @1 e sy T ¥ 4.0 fAse ggd sanfaa #d g fen feadd gff o fea &

Options :

1.

4 Jem
2.

v 30cm
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3m

30m

x> =

Question id : 6046  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Y and Z are two partially reflecting glass sheets. a distance / apart m air. White light falls normally
on Y. The light emerging from Z 15 analysed by a spectrometer. A dark band 15 observed in the
spectrometer at a wavelength . The distance [ must be equal to:

-

je (=

v -

Options :

1.

% ni/2

2 (n+1/2)0/2

3 (nt1/4n2

%

4.

% (n+1/2)A

Question id : 6046  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Y 3R Z a1 309w §9 9 Wade wi= #7 ofiew § S gar A i gt § /g0 WO

37T TE £ Y R AT T T U5dT &1 Z § IR atel TRl &7 f9eelvT U
TR arT T & §1 o a9 v oy TEgeiey # uF qY T & dvs g
Gn’c!rf’hqﬁf =AF ¥ fas e gl 9

-

el —

v Z

Options :

1.

% nA/2

2. (1202

»

3 (142

W

4.

TP

Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Curie-Weiss law

Options :

L e c
¢ " T-g
2. . _ C
x X +8
3. ._ C
© *Tgm
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4. C
® X'_T'e

Question id : 6047 Question Type : MCQ (Correct+ 1.0 , Wrong - 0.0)
Fl 950 A & AEER

Options :

1. ._C
v Y15
2. _C
# L7759
3. . C
x 157
4. _C
s 1715

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A S0uf capacitor 1 a defibrillator is charged to 3000V, The energy stored in the capacitor 15 sent
through the victim during a pulse of duration 2 ms: the power of the pulse is close to:

Options :

L sokw

2, W

3 150kW
T 200w

Question id : 6048 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
e BFEgeel A 50pf F FIFET #3000V FF HEfRT A S §1 2 ms wEE &

Mg & el FUEIe & TR & 75 Fa [afFen & Avgs § 84 Adr ) 9 &
orfed SITHT B

Options :

1.

L 50 Kw
2.

>, 75 kw
3 150 kW
#®

4,

L 200w

Question id : 6049  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two parallel beams of electrons moving m the same direction will:

Options :
1" repel each other
will not interact with each other.

attract each other

be deflected normal to the plane containing the two beams.

E R D R

Question id : 6049  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o E1 fGar # AHEE soEe & & §HeaY [GRoT Ie

Options :

l' =
L gE @ e
é U gER @1 weIfad A S
3.

®

TF I BT ST S
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4. g1 fOT gSil & FHIGST @6l drel GHA 3R G@HE §9 § H3S A
#

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A magnetic material when placed in a magnetic field is pulled out of it. The material is:

Options :

lsé Paramagnetic

2. Diamagnetic

4

3. Ferromagnetic

®

4. sge .
33 Antiferromagnetic

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

FT TEh FFAHT Ugrd H U TEEhT aTF H IEH, IF JFaR a1 § ant & forr
Srar g1 o ugre

Options :

Lé LY %

3. 5

# dlegFaarT §

T ctegraefah &

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The earth s magnetic field at a given point 1s 0.5 Whm™=. This field 1s to be annulled by magnetic
induction at the centre of a circular conducting loop of radius 3 Ocm. The current requared to be
flown 1n the loop 15 nearly:

Options :
Loo2a
2, 04a
3o4a
* a4

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

o for o fig W ged & gEE a8 0.5 Whm? g1 Sem 3dedrs & dedieR
HaAEr o0 & the W FAHI UROT CART 3H & I oISthel RAT ST g1 o9 A arfed
T A & o 379faTd faegd 9amg o fhdar g

Options :
L 02A
2, 04A
S4A
T o40A

Question id : 6052 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a bee structure, the packing fraction 1s:

Options :

lgé V2 /6
23;‘% '3

3. @38
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i‘; V516

Question id : 6052  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T ST WA H, Tehorel AT 39H T T 8

Options :

L VEu6
2 w3

5 (V38
4

4,

w Vsm/6

Question id : 6053 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Electric field mtensity at the centre of uniformly charge distributed henusphere 15

Options :
1 82
4e
2. 2o
®
3, 2
® 2z
4. =
%

Question id : 6053 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U TAS 9 W AT Ao F FE #1 fagga &7 daar =1 geh ?

Options :
. 2
dg,
2. 2o
]

3, 2
#  2g
4 2
® g

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
What 15 the difference in temperature of water at the top and bottom of a rainfall of height 500 mts.

{(Sp. Heat of water = 10% cal kg & J=42 Jeal)

Options :

. e
> 2
%/ 1.16°C
Y a0c

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 500 Hrex =T a9t (rainfall) & o 3R A9 X UET F aOAw F 97 30”6 ?

(ar=lt &1 fafdrse Fwar water = 102 callkg & J = 4.2 Jical)

Options :
1.
#® 20°C
2.
#® 2°C
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312812016
3. 116%C
\‘_f
4. .

% 49°C

Question id : 6055

Options :

u o210

2 21MeV
21
1 21ca

Question id : 6055

Options :

. 24

2 21 Mev
So21ev

Y 21cal

Question id : 6056

Question Type : MCQ
Energy of a photon of wavelength 5890A° emitted by sodium vapour lamp 15

Question Type : MCQ
T WIETH a7 7T IRt IAted 5890A° AEEE Al Hieid $T FAT gl

Question Type : MCQ
Two springs are connected to block of mass M placed on a frictionless surface as shown below. If
both the springs have a spring constant &, the frequency of oscillation of the block 1s:

Al

&

v

-‘J

/,

/

3

i Y
7 s,
": 7 vl
(A ,Lf'/; /)
e, fal
7777 T TTTTT

Options :

1 i { k
L )
« 3 \{E
v )&
s 3 J%

Question id : 6056
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& gefiT T HFER v OYURiRd §AE W GedHE M & s § & T o3 gU &l
afe gt el & o9 TR 4 8, af &6l & gleds & 3dicd &7 o

]

A
f"!

|;Z///_ A TETITEr ,,"f

Options :
G2 fa
®  \am/ l2M
2 (1) k
®  \on/ M
3. (1) 2k
v \an/ M
4 (1) M
® 2ms dk

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Bose-Eisntien statistics 15

Options :
i-/ 1/(exp(EAT) - 1)
2. ST

s exp(E/XT) +1)
3. ..

« V(exp(-E/RT)-1)
‘; 1/(exp(-E/kT) +1)

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
- 3MSTerSe & ST & AR 3iaguR fafafadr PE) o9 & e &

Options :

1/ 1i(exp(E/LT) - 1)
2 1exp(E/KT) +1)

3 1exp(-E/KT) - 1
Y exp(-EKT) +1)

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the distance between sun and earth were reduced to half 1ts present value. then the number of days
1 one year would have been

Options :
L6

2, 129
3. 28

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss %2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  10/52
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4.
- 730

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I qF 3 ot F f7 & g aoAe g &1 3wl @ v A v av A fae R

IR
Options :
Lo65
2, 129
3. 258
T 730

Question id : 6059  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Which of the following is not the Maxwell's equation ?

Options :

lsé divD= p

3/ divB= —].LOE

3 = -ZB
curlE=——

X ot

Y =7+

ot

Question id : 6059 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
frafefaa & o & dFaaer &1 Gl 748 ¢ ?

Options :

; divD = p

3/ divB=—p,]J

33;; curlE = —E__B
ot

‘; corlH=T+ @

at

Question id : 6060 Question Type : MCQ (Correct+ 1.0 , Wrong - 0.0)
The number of modes of vibration per umit volume between 10, 000A° & 10.020 A% 15

Options :

L 377 % 10M vibmd
2 2514 vib/md

f/ 37.7 % 1047 vib/m?
T 377108 vibi?

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10, 000A° & 10,020 A° & & 9Ta S5 aide & AT fir F&T &

Options :

L 377 x 10" vib/m?
2 oea4 vibim3

w  25.14 vib/m

3, 377 x 1015 vib/m?
4

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  11/52
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®  37.7 x 10% vib/m?

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The colours seen in the reflected light from a thin film are due to:

Options :

1. ] ;

% Duffraction

2. Interference
d

3. Polarization
- ariza

ik Duspersion

Correct option is 2 and hence changed answer to 2.

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T Tdell fhed O WEfdd gerer # @1 g oRor § wn &d

Options :

Lo ooy

W

2 rfaEer
<

3. erdator
® O

S s

%

Correct option is 2 and hence changed answer to 2.

Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two couls, each of self inductance L. are closely wound i series such that the sense of their winding
1s opposite. The equivalent mductance of the combination 15:

Options :
Lo
2w
?/ Zero
Lo

Correct option is 3 and hence changed answer to 3.
Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ar e S & gl o1 L Ta-Waed &, 4o & 59 9eR SEey oL S & T

3ot arsEer A9 A9la 81 $A= & gedis Wehea Ehaar &

Options :
Lol
2 L2
%/ Zero
i

Correct option is 3 and hence changed answer to 3.

Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The torque expertenced by a magnetic dipole, having dipole moment M, when placed 1n a uniform
magnetic field of mrensity B 13

Options :

1.

w MB

2.

4 MB
5 ml

% Bl

4

< Mx B

Correct option is 4 and hence changed answer to 4.
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Question id : 6063 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
U Ay gfaga TSaer afayd HEY M 8, &1 Sd B aeidr & WARY TEhT &7

W A §, A 30 @RI HeHd fHAT S arenr Ao e o

Options :
1.
o MB
2.
o M.B
5. Ml
® |5l
4.
v MxB

Correct option is 4 and hence changed answer to 4.

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The magnetic field. due to a circular coil of radius a. carrying a current [ at an
axial point distant = from the centre of the codl. 15 given by:

Options :

1. . Bfisn g g

v B= I‘(ILIUJ(?J}-'(_}(G"":' i
2 B=(a))Qa )
% B=G)Q+?)
3. B IO N o gl S

* =(pgia ) (2(a+="))
i% B= L(ILIUJ-G:J.-'( as+=t )2

Question id : 6064 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
T FIHE & SHH BT 2 F JediR F3e0 & FROT HIC / Faed 8, $Ie0 & b

3l g & zgll W 8, & 69 UhR o f6r iar &

Options :

L B = (U
2B = (B

3 B = (AR

% B = e ALY

Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The London equation in a super conductor is:

Options :

lgé viB= B(mcz) (4n nql)
2. 2B = BNV (dmngd)l 2
v = B(mc~)/(dmq~)
33;; vig= B(mc2).—-’(41111(11)3
4. s >

s A B = B(mec-)/(4mg-)

Correct option is 2 and hence changed answer to 2.
Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T iaTTes H diod TEEOT 598 ¥ #7497 &

Options :

L v28 = Bmcdidx ng?d)

%, v2B = Bmc))/(4mnng?)!2

3 v2B = B(mcA/(dnnq?)?

% AB = B(mc2)/(4mng?)

Correct option is 2 and hence changed answer to 2.

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss %2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  13/52
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Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The following differential equation

a(dy/dx?) + b(d?y/dxy + exy =0

is of;
Options :
1.
%* first order
2. second order
7
3. zeroth order
®
4. third order
W

Correct option is 2 and hence changed answer to 2.
Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TAfeTEa Agde GHETT
a(dZyidx?) + b{d2y/dx2)2 + cxy = 0
sAH oW

Options :

L qerr it 1 &

®

2.

2, ofadw Ak & g
3. oAb dr ¥
Y adm At

o

Correct option is 2 and hence changed answer to 2.

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If fis twice differentiable such that f"(x)=—s5(x) and /' (x)=g(x). h(x) :[ Fi (1)] +[g(_\’)]2_

then the value of b{10) if h(3) = 11 is equal to

Options :
1

% 0
2.

% 3
3.

< 11
4.

x 1

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ife { a1 a) 3aSe T £, 58 &0 =—F) 3R =2,

hx) =[F] +[g(x)] . ar @are @& afe h(5) = 11 &, & h(10) &
A e S9ET g

Options :
v 5
z &
il
& 8

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The points at which the tangent to the curve v = x7+3 1s perpendicular to the line

X+ 3v=2 are

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ..
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Options :
1.
1.6).(-1.4
e (1.6).(-1.4)

2. j
o (1.6.04
3. j

w  OD.(E-1)
4.

o (GD.(14)

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
7 foag ®id & § &F W aw y = x™4+5 i waeR@r x + 3y =2 Wr & wFaad §

Options :

1. 4 3
¢ (1.6), (-1.4)
2. 5

33 (1.6), (1,4)
36, @)
s g &g
4, ;
33 (6,1), (-1.4)

Question id : 6069 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

If u= sin'll o :,+.I,‘4:;rr1'1 2 ' . then the value of x$+}'§ is
L) \x/ & ‘

Options :

L

é 2u

3& Ju

oo

Question id : 6069 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

N ey o o
wntl X ol cu  Cu

T w=sin™ —-‘+mnl'“—; %,Fi x—+y— Bl Al & ?-'
L) . &x cv

Options :
Lou
23;'3 2
3sé 3u
Lo

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The solution of the differential equation (¥ +x)° d_ =g’ 1s given by
3

Options :
v e

1. R [ E=)
< yYtx=a an.i‘ |
2. [y=c)
P y—x=tan

La )
’; 4
e y—x=atan|y—c
§ 7 (y=c)
4, (&)
® a(}—.‘{}—tﬂ.ﬂ_i‘_],—g}

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tasies gatRToT (J.'+x)1§:a2 FT 5 8§ fhed canr fear I
X
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Options :

N |
v+x=atan

v Loa )

2. il
v—x=tan

x {"a )

o —x=at —c

* y—x=atan| y—c)

4. (e}

% aly 1)—tan:‘,1 |

Question id : 6071 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Eliminating a and b from the (x—a¥ +(y—bY +z° =¢* the partial differential equation is

Options :

1. 2 ;:
@ Z(p—gth=c

2. e i S| 1
v = (p+g +l)=¢
3. 24 .3 1
w Zlp+a)=c

4. 2 3

x Zlp—a@)=c

Question id : 6071 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(x—al +(r-bV+z=c>F a 3K b Foe &5 F g WEe Gdes gt =0 §
wle T@T &

Options :

L g =d

®
2. 2,7, .2 3
¢ Z (p+g +l)=c
3. 2.3, .3 1
w Zp+a)=c

4. 2 1

s Zlp—ag)=c

Question id : 6072 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

. e o
The series > (2x)" converges if

P}

Options :

1. bis

x —l13xE1
2 2=2x<2
KT S |
< E<1<E
4. _l-:’ »-c’l
% 3773

Correct.option is 3 and hence changed answer to 3.
Question id : 6072  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AUl 3 (2x)" HEERT g ¢ A

Options :
w HExdl
% HZaxgd
3. 1 . 1
e e
v 2 2
4, L g zd
®8 Lo,

Correct option is 3 and hence changed answer to 3.
Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  16/52
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The sequence {S,} defined by 5., =.7+5,.5 = 7 converges to

Options :

1. o ) i

e Positive root of x" —x—=7=0
2. = : 7 4

% Negative root of x* —x—7=0
3. o 5 s

s Posttiverootof x” +x—7=10
4. o 1 5

* Negative root of x" +x—7=10

Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S =fT+5..5=47 ZanT afetaa W{Sn} = O fad yEERa @ar &

Options :
\L/ X —x=T=0 & UAHE HA

23{3 X —x~T=0 & FHOUHE FqA
3 Atx-T=0 T gAHE qF
T P +x-T=0 & HOTHF HqA

Question id : 6074 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The number of cosets of Hin G where G =2, ) and H = (472, +}1s

Options :
l.
s U
2.,
v 4
3.
w
4 5
% 2

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GHH& G5 OH==l I HEM Sl A R 6. 56l G = (Z AR H =42 # &

Options :
L 6
2 4
o
o2

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If R 15 commutative ring with unit element. M be an ideal of R and R/M 15 finite mtegral domain then

Options :
l M 1s a maxunal ideal of B

M 15 mmimal ideal of R

M is a vector space

M 1s a coset of R

g™ > w8 {

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ife Sos add & T A FAREAT doF & M, R & Ua e § 3R A IRfEa
FHES S &,

Options :

https:/rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath="%2Fjboss %2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  17/52
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M, R &1 e 3ed §

M, R & =eias e &

M v afeyr e &

M. R & 9% §=99 ¢

g8 > w8d "

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A be an nxn matrix from the set of numbers and £ —34° +44—6I=0 where [is an nxn

unit matrix. If 47 exists. then

Options :

1. i

o At=4-T

2. ¢

w Al=34-6I

33;; At=A+67

4 ol saian
N 6" s

Question id : 6076  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ao oo 5 Sl & vEh §HTeT A § axn Afcwd § R 4347 +44-61=0

SET | OF nxn SHS AT §1 4 I war §, o

Options :

1. &

o At=4-T

2. :

w  At=34-61

3.

w Al=A+6rI

4. gt =l['.43—3A+4I‘]

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 -2 2]
If the product of two etgen values of the matrix ’7—2 3 —1| 15 16. then third eigen value 15
L2 =1 3
Options :
L,
¢ 2
2. 5
w 2
3.
% 30
4,
% B

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 -2 2
e |2 3 1| & &1 v (1SIA) A F A0ETHe 16
2 =1 3

g, o T fereeTUE (3sae) A 596 9 4T 8

Options :
L oz
22
336
o6
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Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If 3x+2y+z=0, x+4v+z=0, 2x+y=4z=0 be a system of equations then

Options :

it can be reduced to a single equation and so a selution does not exist
it has only the trivial solutionx =y =-=10
it 1s consistent

determinant of the matrix of cosfficient is zero

P > {D -

Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tle Sxt2yrz=0, x+dy+z=0, 2xty+dz=0 THSHON T gowelr § ar

Options :
TE T T UF THEROT OF FF 7 S GFar & WR 5T TR 5o 67 FHear &

SHR TEHF o A X =y =z=0%

TF FEId &

P > LD -

N & AT &1 ARV 7T &

Question id : 6079  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a coordinate system is attached to a rigid body and one describe the position of any particle

relative to it. then such coordmate svstem 1s called

Options :

frame of reference
coordmate svstem

space time reference system

8> w>® owd {~

Space time distance velocity system

Question id : 6079  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
qfE v GHGT YOIl (FI3Eae fOved) v R s & 927 g5 ¢ 3 #1% sud dag
ToRelT aor T FEufa &1 autey otar & d1 59 X6 &1 GHedd WUl & 4T &gl dl ¢

Options :

1. S

o e T

2$é HH-GT T

3 feEwe wes T
T R gt A womeh

Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a small displacement of a syvstem from the rest position (after getting some energy) results m a

small bounded motion about the equilibrium position. then the system is m

Options :

neutral equilibrivm
Unstable equilibrivm
Stable equilibrium

Natural equilibrium

P LY 8> w-
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Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
7T TR JOTel & faumE @ Fuld 7 oI § favaes @ 9RO (F5 Foll Fed #e

& T1¢) FEEEET & o oiew AT gar & ar yoneh s @ frw Rufa A ¥

Options :

L aeer smmEer

é FEATET grEETaTen
‘; ATl T

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let I be a 3 dimensional vector space with 4 and B its subspaces of dimension 2 and 1 respectively.

If AnB= {0} then

Options :
Lov-a-z
5, V=4+3
S or-uB
Yor-as

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
= ST & Vs GemaEr gty Tevae § T A 3R 8 e 2 3k 1 amEr

& Fu-fearaa §1 af 4nB={0} § o

Options :
Lov-a-2
2, V=d4+B
S v-uB
Y v-asz

Question id : 6082 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Consider the linear transformation TR = R given by T(x v.2.1) =(x1.0.007 (x. v, z.u) e BY

Then, which one of the following 1z correct?

Options :

; Rank of T > Nullity of T
é Rank of T < Nullity of T
3@ Rank of T = Nullity of T=3
4. Rank of T=Nullity of T=2
A .

Question id : 6082 Question Type : MCQ (Correct + l.Q , Wrong - 0.0)
Tley.zu)=(er.0.00v (0. z.u)e R G@RT f&U a0 @& FOReT TR 5> R oy
faa fIfST| 5T I Sasv F Seaeag 3 O &i9 91 99 87

Options :

L T#EE > T e

2 TE Y < T & gear

S T# YR > T fr ear = 3
4.
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v T&H W > T & g = 2

Question id : 6083 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The order of convergence of Newton Raphson method 15

Options :

Lo,
v 2
2 B
30
o

Question id : 6083 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
oo U fafer & SRR s o =R

Options :

L 2
2 3
o0
o

Question id : 6084 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The maximum step size h such that the error in linear interpolation for the function

s o " = X
¥ =siny in fo,7] 1s less than 5x107 1

Options :

Lo
2 0002
3 004
T 006

Question id : 6084 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ifehad TNET AT (F¢T T@5e) h 50 YA § T fon/ § vy = sinx Bed & T

s siadue 7 3fe 5x10° F & §

Options :

o002
2 0002
3 004
+ 0086

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A curve 15 drawn to pass through the following

4

td
L

X 1 15 2 25 3

b 2 24 2 28 3 2.6 24

The area bounded by the curve, x-axis and lines x = 1. x = 4. The volume of solid generated by
revolving this area using Simpson’s 3/8 rule 15
Options :

1. 2
w 0854
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2. 65
v 65.38
3. .
% 63.58
4. :

w 6438

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T g AEAread ¥ & 7 S & O ger =

X 1 15 |2 25 3 3.5 4

y 2 24 L 2.8 3 2.6 21

ek, X-H&T HIT W@ x = 1, x = 4 gy &1F 9Rag fbar = 81 fBegaa & 378 fauw
FTGANT IS 3T &TF F GHel arel OFT B AT SAH T FAT 8

Options :

L 6854
f/ 65.38
3. 6358
T 6438

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The function w = Jog =z 15 analytic everywhere except at the value of z then z 15

equal to
Options :
1.
g -1
2.
w 1
3.0,
w 2
4.

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
z & A F Hondl Bod w = Jog z Ui T oY faeemuneas £, a7 z had et

&

Options :
Lo
2
% 2
Lo

Question id : 6087 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The Taylor series expansion of 2:|Z|c:1 is
=
Options :
1. i, z ¥ £
PR b BRI
20 27F 2
if S
%/ ——_l+;+—+z—____l
2. 2 4 8 )
1 #00)

4.
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1 z
2% 4 877}

Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
<1 & oo Aol faear =70 § FiF @ g

|z
z=2
Options :
1. i #Y
s ol
2\ 2 g )
2 Mz 2.0 )

Question id : 6088 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Let x be a non-optumal feasible solution of a linear programming maximization problem and v a dual

feasible solution, then

Options :

L the primal objective value at x is greater than the dual objective value at v

W
233 the primal objective value at X can be equal to the dual objective value at v
3'/ the primal objective value at x is less than the dual objective value at v

‘;3 the dual can be unbounded

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ife v G FAGYE AsadaoT (W AFTaseee) TETT & OF SR-3teqd waded TAENE X § 3R y 26t suand gaee §, ar

Options :

1: X O YRTEE a¥diAs A, y W ARy aEqierse A B AT S g ¥
2 x 9 IR aegiate A, y T AR avgiete A § a0eN o ST &
3, x W UREE awgfes A, y W AR aRqis A 7 e w9 o b
T QY (3 # HIREs (3EErs) R ST s §

Question id : 6089 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A square 15 a convex set. 1ts exterior points are

Options :

1'_ vertices of square
2. ;

pH sides of squares
3. g ;

* inside of square
4. ;
G Outside of square

Question id : 6089 Questlo e: MCQ (Correct +1.0, Wrong - 0.0)
Teh G391 Teh 3ol AT Gﬂﬁg

Options :
!, @ ¥ Rrfag
% T & e
S @ @ sraRE s
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4 @ @ e s

Question id : 6090 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A beasethaving 'p’ elements and B be the set having ‘g elements. the number of relations from

AtoBis
Options :
L IF

% 2

2. g

% 2

3. om
J =

4. HPg=g
% 2

Question id : 6090  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I A TEH THET § OEF P HAGd P AN B W & ‘g ¥Eaa b, AT A 9 B aF
Tael T T adr

Options :

2

prad

> 4> 8> nw—
d
=

Question id : 6091 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following is a null set?

A={x:x1sprime}

B={x:x+8=8}
C={x.‘x2+1=0_xisarea1 number}

D={x: =4 xisan integer}

Options :
v ©
Z B
oA
T B

Question id : 6091 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fFrafafea & § Sl w1 v Rag wge= &7

A= { X x 39T B}
B:={xix+8= 8
C={x:x2+1=0, x U5 audias T &}

D={x:x?=4, x v& quic $}

Options :
1.
<
2.
% D
3.
% A
4.

B
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%

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The locus of poles of normal chord to the parabola v =dax is

Options :

L (rt2api-4a’=0
2. 2 3
< (x+2a)y" +4a =0
3. 9. 2 RO s
% (x—2a)y +4a =0
Y (x-2a)t—4a’ =0

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ao ' =dax W AT A & TET & g gon

Options :

L (xt2api-4a’=0
2. 2 3

v (x+2a)y +4a =0
3. A d 43
% (x—=2a)y +4a =0
T (x-2a)—4a’ =0

Question id : 6093  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The equation of plane which passes through the point (2. -3. 4) and 1s parallel to the plane 2x — 5y —

Jz=61s

Options :

‘g IxSy—-Tz- 9=0
2 xS5y-T7z+6=0
3. xSy-T7z+9=0
7

‘; 2xSy-Tz-6=0

Question id : 6093 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 AT S TAGIOT &7 § S g (2, -3, 4) § & & e § 3R §Ade 2 - 5y -
7z = 6 & AT &

Options :

L oxsy-7z-9=0
2 2 By-7z+6=0
f-/ 2x By-7z+9=0
Lo By-7z-6=0

Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The value of || ( vzdvdz + zxdzdx + spddy | where S is the surface of unit sphere X414 =1 s

Options :
Lo

235; 4T
3, 4ns
L 10
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Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
([(12dvaz+ redzcix+ xudxay) @1 BTt S8 @ @1 § SET S SIS &1 B GAE

:\fl_,_}.l_‘_zl =1 %

Options :
Lo

2&'; 4T

3 4z 3
to10x

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1

The value of | f(xdx. where f(x)=1-2x,x=0; f(X)=1+2xx20 1
il

Options :
L. 5
% 2
2.
% 3
3.
v 4
4.
x 0

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AE

.ll F(x)de, where f(x)=1-2xx=0; f(x)=14+2x,x20 I Hd FT &

-1

Options :
L2
2 3
34
v B

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The volume formed by the revolution ofthe loop of the curve

Va+xi=2(a—x) about x-axisis

Options :

l&'g —% e log ;I
2. 2 5. [4)
% oa log i‘e_:j
3. .2 5 (4)
£ 3 ma log 1_?‘,'
4 2 3 80
i'/ z Aa log ihe_‘,r

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
X-318T & IR dF pl(a+x)=x(a—x) & GAE & TRFAY ZaART Id 3T &-

Options :
1. 25 (8]
——ma log —
] 3 "l )
2 2 4 (41
. —aa log| — |
® 3 g Let Jl
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3. 2 5 47
——a log —
X 3 "l )
4. 2 i | “‘.
< g,-Ta logi\g2 I

English Language
Section type : Online, Number of Questions to be attempted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0
Subsection : 3, Question Shuffling Allowed : Yes

Question id : 6097 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the word similar in meaning to- ABANDON

Options :

lsé Possess

2&% Keep with
3. ;

v forsake

4. :

; union

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- ABANDON

Options :

lg:; Possess

2&‘; Keep with
%/ forsake

4. .

4 union

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

i/ Irritate
2&'; Decline
:;'; Praize

+ Excited

Question id : 6098 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

E'/ Trritate
2&'; Decline
:;'; Praise

4 Excited

Question id : 6099 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Give one a long rope

Options :

I tolet someone commit mistakes
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\./

23% to give a big helping hand

3$é to support a person

z;é to make 1ssues of small matters

Question id : 6099  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Give one a long rope

Options :

{/ to let someons commit mistakes
Zsé to give a big helping hand

3@ to support a person

‘;é to make issues of small matters

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

lsé quality to forgive
2. 2
5  Dbrotective
3. 3% T
y ggressive
\v_/
4. 1
5 calm

Question id : 6100 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :
Lé quality to forgive
2. 5
tect:
,  protective
3. % i
goressive
\./
4. 1
s calm

Question id : 6101 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

collective effort
hard work

Very profitable

L 8> 8D wr—

Unprofitable

Question id : 6101  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

1. collective effort
E

%é hard work

3$é Very profitable
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4. Unprofitable
<
Question id : 6102  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
Find correct sequence of sentences:
P=advocated complete squality:
Q=1 1834, Anthony devoted herself:
R=between men and women:

S=to the rights of women and

Options :

lsé QSRP
%} QSPR
3@ SPRQ
‘; SRPQ

Question id : 6102  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete squality:
Q=1n 1854, Anthony devoted herself:
R= between men and women;

S= to the rights of women and

Options :

ié QSRP
%} QSPR
3@ SPRQ
‘; SRPQ

Question id : 6103  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Find correct sequence of sentences:

P=occur in the Earth’s mesosphere:
Q= about 40-60 miles;
R=meteors. also called shooting stars:

S at an altitude of

Options :

lsé PRQS
é PRSQ
3@ RPQS
‘\_‘) RPSQ

Question id : 6103  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=occur in the Earth’s mesosphere:
Q= about 40-60 miles:
E=meteors. also called shooting stars:

S at an altitude of

Options :
L.
33 PROS
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2. PRSQ
®

3,

S RPQS
4, ;
', RPSQ

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

O= while talking to a group. on= should feel self-confident and courageons:
P=Nor 1s 1t a gift bestowed by providence on onlv-a few:

QQ: One should also learn how to think calmly and clearly:

B Tt is like the ability to play golf: 5=It 15 not as difficult as most men tmagmne:

T: Any man can develop his capacity if he has the desire to do so.

Options :

1 X

- OQSPRT
LooQ
2.
. OSPRQT
3. :

). OQRSPT
4. OPQRST
®

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

0= while talking to a group. one should feel self-confident and conrageous:

P=Nor 1s 1t a gift bestowed by providence on only a few:

: One should also learn how to think calmly and clearly:

B Tt is like the ability to play golf: 5=It 15 not as difficult as most men mmagine: T: Any man can

develop his capacity if he has the desire to do so.

Options :

L. :
!, OQsPRT
2.

. OSPRQT
3. ;

). OQRSPT
4. OPQRST
W

Question id : 6105 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons is called.

Options :

lsé Panarchy
2$é Oligarchy
f/ Neocracy
4; Ochlocracy

Question id : 6105  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 15 called.

Options :

; Panarchy
2$é Oligarchy
3. Neocracy
v i

4.
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#  Ochlocracy

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Creak 1s the sound of.

Options :

L’z Crows
%'/ Doors
3&'3 Dogs

i’z Coins

Question id : 6106 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Creal 1s the sound of,

Options :

13:; Crows
%/ Doors
3&‘; Dogs

i’z Coins

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word oppesite in meaning to: STAID

Options :

L RESPECTABLE
2 et e

>, FRIVOLOUS

3. STARCY

®

*  DEMOURE

Question id : 6107 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite 1 meaning to: STAID

Options :

| RESPECTABLE
2. FRIVOLOUS

L

3. STARCY

W

‘; DEMOURE

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite 11 meaning to: SULK

Options :

1. R
! COMPLIMENT
2. MOROSE
)

3. SILENT

s ,

4 GRUMP

- 1

Question id : 6108 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word opposite in meaning to: SULK
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Options :

|

: ! MEN
¢ COMPLIMENT

2. .
. MOROSE
3. SILENT
s ,

4 GRUMP
L .

Question id : 6109  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration

The Indian express savs. We shall 1ssue an astrology section m our Thursday’'s paper .

Options :

The Indian express savs that it will 1ssue an astrology section in their Thursday s paper.
The Indian express savs that they will 1ssues a astrology section m their Thursdav’s paper.
The Indian express said that it will 1ssue an astrology section in its Thursday s paper.

The Indian express savs that it will issue an astrology section in 1ts Thursday s paper.

L > 8D w-

Question id : 6109  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The Indian express says. “We shall issue an astrology section in our Thursday's

paper .

Options :

The Indian express savs that it will 1ssue an astrology section i their Thursday s paper.
The Indian express savs that they will 1ssues a astrology section m their Thursdav’s paper.

The Indian express said that 1t will 1ssue an astrology section in its Thursday s paper.

L= 8> 8> wr-

The Indian express savs that it will issue an astrology section in 1ts Thursday s paper.

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to mspector, “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

P> x> D un-

The judge ordered inspector to get the thieves.

Question id : 6110  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to mspector, “Call the thieves™

Options :

The judge vrged inspector to call the thisves.
The judge ordered inspector to call the thieves.
The judge requested mnspector to call the thieves.

The judge ordered mspector to get the thieves.

P> > LD w-

Question id : 6111  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said. “Ugh! I have hated him™
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Options :
She exclaimed with disgust that [ had hated hun.

She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

P > D w-

She exclaimed with disgust that she had been hated him.

Question id : 6111  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him™

Options :
She exclaimed with disgust that I had hated him.

She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

P w> (D w-

She exclaimed with disgust that she had been hated lum.

Question id : 6112 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism in the country

Options :

lsé Condemn
2, Sik

3@ Exhort

. Abolish

Question id : 6112 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the peopls to their religious differences and strengthen
secularism in the country

Options :

lsé Condemn
%, Sk

Ssé Exhort

% Abolish

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

I have profound respect for his political

Options :

lsé Personality

2@ Ambition

33% Temperament
i‘/ Sagacity

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Choose the correct option for the following blanks.
I have profound respect for his political

Options :

lsé Personality

2@ Ambition

?;é Temperament
i‘/ Sagacity

Question id : 6114 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts, we failed to any new facts from him.

Options :

', Blicit
2& Detamn
:;é Eject
té Enlist

Question id : 6114 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts. we failed to any new facts from him.

Options :
L Bl
2$é Detain
3sé Eject

‘; Enlist

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and mprove the sentence by replacing the words tvped 1 bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :
Know that why did the apple fall

Know why the apple fell
Know that why the apple fell

No improvement

P wg» > w-

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and mmprove the sentence by replacing the words tvped in bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :
Know that why did the apple fall

Know why the apple fell

Know that why the apple fell

P wg» (N w-

No improvement
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Question id : 6116 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money

Ransom to an SNy

B8P ¥ 8> =

Momney for compensation

Question id : 6116 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money

Ransom to an ENEyY

g™ LY 8> v

Money for compensation

General Intelligence/Reasoning

Section type : Online, Number of Questi to be at

d:15, Mandatory or Optional: Mandatory, Section Marks: 15.0

P

Subsection : 4, Question Shuffling Allowed : Yes

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In group of six women there are four dancers, four vocal musicians. one actress and three vieliusts.
Girtja and Vanaja are among the violmists while Jalaja and Shailaja do not know how to play on the
violin. Shailaja and Tanuja are among the dancers. Jalaja, Vanaja . Shailaja and Tanuja are all vocal
musicians and two of them are also violinists. If Pooja 1s an actress. who among the following 1s
certainly a dancer and a violinist?

Options :

\l/ Tanuja
23% Jalaja
3@ Girija
‘; Shailja

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
. AN F UF GHp A IR Adf6an, IR MEET, vE AESE 3R dF

FrEfeareET §1 TR 3R g afeaafesw § 3R S 3k deeraafea
ST AT AT e SR A AT A W &) Steren, aeenr, Seer AR aeer wer
e § 31X 379 ¥ &7 atoa arfeare o g1 afg 9= U AP 8, d sAe
Fia T Afger BFTT 7 ¥ vF Todr 3R g arfedr &7

Options :

I gea=r
v 4 Ll

2. srsiar
&
S
&

4,

® EIRE
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Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The letters L. M. N. O.P. Q. E_ 5 and T in their order are substituted by nine integers 1 to 9 but not
in that order. 4 15 assigned to P. The difference between P and T 15 3. The difference between N and
T 15 3. What 15 the integer assigned to N

Options :
P
2. 4
33 !
3.5
i o
4.
x 1

Correct option is 1 and hence changed answer to 1.
Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
W LMNOPQRSIHR THIS F7 H 1§ 9 dF & 3 o Fdl so0r 75 &

afaeenfad Ry oiw €1 P o 4 & uiteafig far aar &1 P 3R T & i # a5 B
N 3R T & & # 3o 3 B AT N wr afaenfug s e 3% @ 9aT oSy

Options :
1.
v 6
2. 4
®
3.5
i D
4.
% 1

Correct option is 1 and hence changed answer to 1.

Question id : 6119  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Five people A. B. C. D and E are seated about a round table. Every chair 1s spaced equidistant from
adjacent chams. C 15 seated next to A; A 15 seated two seats from D: and B 15 not seated next to A
Which of the following must be true?

D D 15 seated next to B
(I) Eisseatednextto A

Options :

1$é (D) only

2sé (II} enly

?/ (1) and (II) both
‘; Neither (I) nor (1)

Question id : 6119 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
9 ST A B.C.DIRE v M A W 45 §1 vedw &1 il qurer #1 a=it F wH

O W T Y C, A F auer F dor & A, D ¥ @ e oiset doT §; B, A & @l
F a9 dor &) oo § FT @ Fuw v B

() D, B ¥ O« dor &
(I E, Adh &arel & dor &

Options :

L &

2 &ma

5 O3 apaer
L o waoFam

Question id : 6120  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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There are s1x villages A. B. C. D E and F_ village F 15 1 km to the west of D. village B 15 1km to the
east of B village A 15 2 km to the north of E. willage C 1s 1 km to the sast of A village D 1s 1 km to
the south of A which three villages are m a line

Options :

L AcCE
f/ ADE
3. AB.E
t DEE

Question id : 6120 Question Ty_pe :MCQ (Correct+ 1.0, Wrong - 0.0) _
A B.C.D.EXRF @ o aifa &) ag F, D & ufeas & 1 5 gff w Fua #) o

B,EF 10 # | fral. gt X g &1 ofg A, E & e # 2 fnah gff w a &
aMa C, A® T H 1 &AL g W g g1 @d D, A & gfaor 7 1 A = Rad g
s i & Ji aie ve @ # g 87

Options :

L Aex
%/ ADE
3 4B
t DEE

Question id : 6121  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Mr. kwmar drives to work at an average speed of 48 km per hour. The tume taken to cover the first
60% of the distance iz 10 minutes more than the time taken to cover the remaining distance. How far
15 his office?

Options :

lsé 30 Km
2, 40Km
ié 48 Km
+  s6Km

Question id : 6121 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A1 FAR T W A& & A0 48 Fremndex wfa 9¢ & sikeg afa & andr = 81 g0

& ugel 60% HET &7 o7 Sl W O AT WAT O G & el Hlsl H o any
gHT @ gee H 10 fAde saer 81 9@ s e g1 87

Options :

L 30Kkm
2, 40Km
3. 48Km
% 56Km

Question id : 6122 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A train travels at a certain average speed for a distance of 63 km and then travels a distance of 72 km
at an average speed of 6 km'hr more than its origmal speed. If it takes 3 hours to complete the total
journev. what 1s the ongial speed of the tram mn km/hr?

Options :
I.

« 060
2. =,
% 54
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42

g L

36

Question id : 6122 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TF ¢ 63 fratde #1 gff ve Afvaa sitaa g § a7 e § i 3us 9 72

faral. 1 gl el arcafas afd & 6 fnadv/Eer @ e #1 siwa afd & aer e
B T A A G AT F W0 S 3 G I g4 Y aedias A B /Eer A
o &7
Options :

60

36

gH> LY 8D w-
e
[B=]

Question id : 6123  Question Type : MCQ (Correct+ 1.0 , Wrong - 0.0)
Find the next number of the series: 1.5.2.3.3.1. 39,

Options :
Looo3
L &%
3, 47
+ 168

Questlon id : 6123  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
’FI?E-I(T‘II H 3T HEGT &I 9ol S99 1.5.2.3.3.1.3.9. .

Options :
Looo3
Z B
3, 47
+ 168

Question id : 6124  Question Type : MCQ (Correct + 1.0, Wrong 0.0)
Find the next pair of numbers of the series: 21. 2518, 29 33, lS

Options :

L oaa
2 3118
3 4518
v oane

Questlon id : 6124  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
’HEFII H 30Tl HEAT A5 &1 9dl oEnd: 21, 25, 18,29, 33, 18

Options :
L.

37. -
v 41
2. 7
po 37.18
3.
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® 4518
4.
% 41,18

Question id : 6125 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the wrong number of the series: 1. 3. 10. 21, 64,129, 336, 777

Options :
Lo129
2, 356
5 64

L W

Q_uestion_ id : 6125_ Question Type : MCQ (Correct+ 1.0, Wrong - 0.0)
CIER H Ield HEAT T 94T o9ne: 1.3, 10, 21. 64.129. 356, 777

Options :
Lo
2, 3%
5 64

L

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code MIND is written as kglb. ARGUE as vpesc. How DIAGRAM will be coded in the

same code?

Options :

ls;% bgypevk
23;'; bgyevpk
?'/ bgyepyk
i; bepgyyk

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T fFaa w5 § MIND &' kelb, ARGUE &1 ypesc 0@ =7 &, o 5@y 5 &

DIAGRAM @ &% @ smoam?

Options :

13;'% bgypevk
23;'; bgyevpk
f/ beyepyk
4353 bepgyvyk

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code SISTER. is written as 333301, UNCLE as 84670. BOY as 129 How SON will be

coded m the same code?

Options :
Lo
2 793
S
4.
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¢ 54

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e of¥ad #15 & SISTER & 535301, UNCLE &l 84670, BOY & 129 Tor@r =imar &1 s+t

FIs F SON FI ey for@r =Arwen?

Options :
L o3
2 793
N
Y am

Question id : 6128 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Out of 4 alternatives. 3 forms a group. Find the odd one out.

Options :

L 30156
2 34901
3, 33338
L 3w

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
4 aFedt ¥ ¥ 3 v §AF 990 | fauA fwe @ g

Options :

L 32156
2 34901
3, 33338
Y 3w

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
BANANA 1g related to FRUIT 1n the same as CHRYSENTHEMUM is related to.

Options :
GRASS

TREE
STONE

FLOWER

L 8> 8D w-

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

&, Tl § 3 vER Fafad § o 9ER Eersar ¥ wafad
Options :

1.

g T

a =

3 ueR

4. wmer

v 4 ~

Question id : 6130  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
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Ram ranked 13t in the class of 33 students, There are 5 students below Suresh rank-wise. How
many students are between Ram and Suresh?

Options :
1.

@ 12
2. 5
v 14
3.

w 18
4 3
% 22

Question id : 6130 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
33 o @ waET A AH 13 T TG T/ @0 3§ & T F G F A 5 o 51 7

AR gy & dig fhae o £

Options :
1.

w 12
2. 5
v 14
3.

x 18
4. 59
a 22

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Sonia was walking on the street when one lady approached him to donate for cancer patient. She
gave her a rupee more than the half of money she had. She walked a few steps more when a girl
approached her to donate for poor peoples” fund and she gave 2 rupees more than the half of the
money he had then. After that a boy asked her to donate for blind’s fund and she gave 3 rupees more
than the half of the money she had then. In the end she was having 1 rupee left m his hand. How
much rupees Sonta was having m the beginning?

Options :
i
2w
S
+ 126

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HifeTar 5 W gF W o S ue AT o 36 U $ax WOl & & g & H Fw1l

I 3T ATGAT ol e UTH 3Ueleel & & HUE AET # O Udh U7 el & U &
&1 9% To & A 79 adr o F UF a5dT o 39 a0 A & W F g o &
el AT GG & 3Y HUa UE 30 0 & S AT § 2 ®UC S4El dr e £
IOF dIC U o5t o 39 ¥4l & Uk FT H S & & &el af 39 38 39 09
3UeTee] AT & W 9797 § 3§90 =T &7 6T 271 39 § 39% O hao 1 &7
@ar| Eifdar & ore yEard # fede w9T 94

Options :
i
2 @
% B
126

General Aptitude/Numerical Ability
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Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6132  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: (12.1 1}2 + n‘.’}()1 =732.2921

Options :
L 202
2, M2
3.
192

Question id : 6132 Question Type : MCQ (Cor_rect + 1.0, Wrong - 0.0)
aier &3 a1v wEleer & 6 X &1 J aJg &

(12,1197 + (X% = 732.2921

Options :
Lo 202
2, 22
3 2
o192

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) = (986-764-156) 15 equal to.

Options :
1.

s 9

2.

% B

3. 4

s@ !

4.

< 8

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) + (986-764-156) fohdeh a_Ta &2

Options :
1.

W 2

2.

% B0

3. 4

s@ !

4.

W g

Question id : 6134 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Find the value of X for: 36% of 850 + x% of 592 =750

Options :
L
2 g0
S
S B
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Question id : 6134 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
At fe2r smo geEeer & T X F 7 J@g S

36% of 850 + x% of 592 =750

Options :
N
2 g9
3. W
L @

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sum of the digits of a two digit number 15 12, If the new number formed by reversing the digits
is greater than the original number by 34, then what will be the original number?

Options :
L og
2 ug
3,
L9

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&r 7R arel TEET & ST 1 AT 12 B IS He 6T & 3 TU A OB age

FE Uh A3 WEAl gl S & ST foh Hel T @ 54 316 &l Hel e @ g

Options :
Lo
2 48
3, 39
A

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the fraction, twice the numerator 15 two more than the denominator. If 3 1s added to the numerator

and the denominator each. then the resultant fraction will be 2/3. What was the original fraction?

Options :
. e
2 e
3 136
&

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 39T (fraction) &, & aN AT HIeleh & & 379% U7 ST &1 dfe €= HIT #ee

Ucded # 3 ST S €A 3ue oo 3ver 23 g ST 1 He 3y & am

Options :
L W
2 13
3 136
Y
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Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the fraction 8/5, 7/2, 9/5_ 5/4, 4/5 are arranged in descending order of their values, which one will
be fourth?

Options :

Lows
2, A
395
L85

Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
8/5.712. 915, 5/4. 4/5 3721 &I sk Hedl & WS &A H for@r ST g, ar =@ty Tue o

BRI (5117
Options :
Lows
2, A
395
L s

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two taps can fill a tank mdividually in 10 min and 20 min respectively without any leakage.
However, there 1s a leakage at the bottom which can empty the filled tank in 40 mm. In how much
time will both the taps fill the tank with leakage?

Options :

8 nunutes
7 minutes

10 minutes

P w» gD

15 minutes

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& ool faar e e & v &% & seen 10 e 30T 20 fAae & s gaa £

Eﬁﬁi?ﬁﬁ@ﬁﬁﬁﬂﬁﬂﬁ%ﬁﬁﬁﬁtgﬂ%ﬁ%ﬁﬂfﬂ@ﬁﬁmm?ﬂm
o 19T ST oef oo & ehdd 98T H 6T g

Options :

1. par=rd
4 &

2. 7 f&ae
®

3. 10 f&=e
®

4.

% 15 E=Ea

Question id : 6139  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If successive natural numbers are written m a row starting from 1. which digit appears in the 200tk
place?

Options :

0

g8 w8
s

L
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4. 7
E
Question id : 6139  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I v dfad 7 wpias S 19 4F a0 oenaR O S, ar 2009 P 7 ol
T 3F A
Options :

0

=y

~

P wP w8

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Trains leave the stations A and B sunultaneously after an interval of every 1 hour. Each tram takes 4
hours to complete the journev. If a person starts from the station A for the station B. how many trams
will he cross before arriving at the station B?

Options :

Lo
g 4
2. %
% B
3.
‘_/ !
4.

v K

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
oEnfsar A 3HR B Tt & 1 g8 & Hawel § v WY Sisdr §1 Ycdd Ternisar arr

H O A T 4 9 o §) 9 ve wafdd €A B W A & fow weee A €
oE FA A a7 TAA B W UG F Upr vl A &1 aw

Options :

L
L B
2. 5
> s
3. 9
\./

4.

s

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A person travels three equal distances at a speed of x kin'h. v km'h and z km'h respectively. What 15
the average speed for the whole journey?

Options :

xvz/(xv +yz+zx)km'h
(xy vz +zx) / Xyvz km'h
3xvz/ (xv T yz+ zx) km'h

xvz/ 3 (xv + vz + zx) km'h

R S L

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T ST e aXIeN 3T T AT HAA x FRALEE y BmaAn/Eer iR 2 A Eer &

I F 9@ e §, A ot @ & v st afa w=w e

Options :

1.
®

2.

xyz/ (xy +yz+zx) &AL
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®  (xy+yz+zx)/xyz) TALE
3\_"/ 3wyz/ (xv+vz+zx) T.ALEET
té xyz/3 (xv+yz+zx) Th.ALEe

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The average of 3 consecutive numbers 15 x. If the next two numbers are also mcluded. how shall the
average vary?

Options :

I 1t shall increase by 1

v :

It shall remain the same

It shall increase by 1.4

It shall increase by 2

P B> =wD

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
5 SRR T &1 A#g « &1 9fE e o gwae ofr enfier & o |re ar A

Fo A 9 e ¥ aitadT 3en?

Options :

L @mi @@

% 6 S & e
3sé T 1.4 ¥ 98 =T
‘; T 2 F 98 AT

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A goat i3 tied to one corner of a square plot of side 12m by a rope 7m long. Find the area it can

graze?
Options :

1.

% 68.5m?
2.

» 38sm’
3@ 55.5m?
4.

4 63.5m?

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T I T 12 HieX ol e Al @ & U Fle W7 et o R @l g

&1 519 &her H U5 WX Thdl & 39 &6 & IdT o

Options :
L 685 @t A
2' SR
» 385 @ A
3 555 @ AR
Y 635 @ A

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 cats caught 10 rats m 10 seconds. How many cats will catch 100 rats n 100 seconds?

Options :
1.
& 100
2.
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® 50
3.

S, 10
4. 5
g

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 fafeer o 10 43 #F 10 =E7 #1 9hs a1 100 FFs A Fael Rieemr 100 gr

T THSAN?
Options :

1.

w100

2, i

w 20

3.

v 10

4. 55

& 2

Question id : 6145 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Speed of a boat 1n stull water 15 8 kin/lir. It goes 24 ki downstream and comes back to the starting
point i § hours. What 15 the speed of water 1n the stream?

Options :

L 55kmh
2 35k
3, 40kmh
T 62kmn

Question id : 6145 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
uid ol & U ag &7 AT 8 R 81 7% 24 AL g i Rur § 9 & e

3R arE yRfEE g ugHe A 8 9 &1 WA ol g Uil & aRT o afd w=w

Options :

Lo ss PR
2 35 R/
3. :
» A0 TR e
T e fRa e

Question id : 6146 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a class of 100 students. 30 passed in Maths and 70 passed i English. 35 students failed in both
Maths and English. How many students passed in both the subjects?

Options :
Lo
2.
2,
345
% o

Question id : 6146 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
1OOWﬁwmﬁ_SOWTﬁHﬁ3ﬁT7OWﬁGﬁﬁW§U_5 oE v

mmm:&wmmwmw:&mw
Options :

1.
35
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®
2. T
J .
P o
4. 5
% 7

General Knowledge/Awareness

Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0

Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
World war II began by German invasions on.

Options :

1. N

% Russia

2.

P France

3&% United Kingdom
4.

< Poland

Question id : 6147 Question Type : MCO (Correct + 1.0 , Wrong - 0.0)

giadr favags T ST & HIHACT & HY AE G A
Options :
L =a
% W
L few
Y o

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
On 15 February 2013, the Chelvabimnsk Meteor hat.

Options :

lsé America
2&'; Canada

3&‘; Mexico
i"/ Russia

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

15 TRl 2013 FI, ToATecd HeR (Chelyabinsk Meteor) 3oahT &5l 9 ToT off?
Options :

L @R

2 e

L Afeewr

Low

Question id : 6149  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who has won the FIDE World Rapid Chess championship title 20157
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Options :

1'_ Magnus Carlesen

v

23;; Vishwanthan Anand
33;% Teimor Radjabov

éé Fabiabi1 Carnana

Question id : 6149 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
firs (FIDE) faeg IS oo SEawafag 2015 =+ f@ae fraer Sar ar?

Options :

23;'; TJeganyd HeG
3;; AR yearda

Y o FE

Question id : 6150 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
The Washington Accord is an international accreditation agreement for educational degrees m.

Options :

Arts and Humanities
Medical Science

Engineering

I Sl L

Social Science

Question id : 6150  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

arfétered Tahis &Fr dafUe Bl F Ow v FaWse Jeadr uied
aaglar B

Options :

L e siR aw@ar

2353 =TT faamer

3. s

7

43;% amias faae

Question id : 6151  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In India. inflation 15 measursd by

Options :

i'/ Wholesale price index number

23;'; Consumer price index for urban nen-manual workers
33;-; Consumer price index for agricultural worlers

i‘k Nartional income deflation

Correct option is 1 and hence changed answer to 1.

Question id : 6151  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
AR H FETEHI ZarT AT S
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2 oll dR-ATAE & T SuseT Hqew TEEE
AT HFR FHARA & [T STHEA Ao qaEE

P >

TEERT AT 39Ehifa

Correct option is 1 and hence changed answer to 1.

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
National imcome is.

Options :

lsé Net National Product at Market price
2& Net National Product at factor coast

3/ Net domestic product at market price
‘:é Net domestic product at factor cost

Question id : 6152 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TSET AT FATE?

Options :
TER Hed W UL TS 3G

TUATS AT R UG AL BeUIE

TER Hed W UE =1e] 3798

P L > w-

TATS T WX G BT, IeIe

Question id : 6153 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Organisms that generate energy using light are:

Options :

1 . i

% Oligotrophs

2$é Chaemorganotrophs
3$é Chaemolithotrophs
4. Photoautotrophs

4

Question id : 6153  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TeRTer T 3TEET ek Fall 3cdeel el drel S ]
Options :

lsé HeREETF (Oligotrophs)

%é FrHEBFFTEET (Chaemorganatrophs)

ié FHATTIETE (Chaemolithotrophs)

i‘/ TRIETIHTEETE (Photoautotrophs)

Question id : 6154 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Which technique 15 used for the study of land use pattern?

Options :

1@ Aenal photography

2@ Satellite imaging

3gé Satellite imaging and GIS

:‘/ Satellite imaging. GIS and GPS
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Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I TR Yeal & Feude F U R deets 1 S R a8

Options :

lsé FATS TIETITHT (Aerial photography)

2& deose AT (Satellite imaging)

3. Weamse sATS 3N ST (Satellite imaging and GIS)

‘\‘, Heomse A, Samsry 3R ST (Satellite imaging. GIS and GPS)

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Particle size 1 soil can be classified as

clay: 1-4 micron.

Silt: 4-62 micron.

Sand: 62-1000 micron:
Boulder: = 1000 micron.

In nature particle size distribution follows:

Options :

lsé Bmomizal distribution
2gé Lognormal distribution
ié Linear distribution

4 o .

< Normal distribution

Questi_on id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FEr # FOT NN & 58 qaN § aFfigd Fr S F@ar ¢

Frepott THEET: 14 As®a, W7 (Foe) 4-62 ATSHI, aes Hedl 62-1000 ASHS, & =

1000 FTSHI| Uhfd & HOT HHR F1 TG0 50 TR &

Options :

lsé @T!T:{ TIT9T (Binomial distribution)

2$é THHHAS faaTor (Lognermal distribution)
3$é &% faaT (Linear distribution)

i‘/ AT TaaXoT (Normal distribution)

Question id : 6156 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following latitudes passes through India?

Options :

1. :

% Equater

Zgé Arctic Circle

3$é Tropic of Capricom
4. Tropic of Cancer
4

Question id : 6156 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fPrafeiad & § Sl &1 37T a9 F Frt aar 67

Options :
L ggesr Yar
® LY
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